Maths Week 13

Parents please show them the PowerPoint slides for Year 3&4 to introduce them to the topic.  

Your child knows which sheets they usually do in class. The sheets are labelled with:
D means Developing (easy)
E means Expected (middle)
GD means Greater Depth (challenging) 

Once they finish the developing, they can do the expected worksheet for their challenge. 

The expected children can progress to greater depth once they finish the expected questions. 

Make sure you write your L.O and date in your book. There is one PowerPoint for each day.  

Please note- You do not have to print out any work. Children should date and number their work and show any working out in their books like they usually do in class.












Week 13- Wednesday 17th June 2020
Please click on this link for more information - https://www.bbc.co.uk/bitesize/clips/zs4xn39
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Pictograms

tograms

4a. True or false? The pictogram below
shows the results of the tally chart. Explain
your answer.

4b. True or false? The pictogram below
shows the results of the tally chart. Explain
your answer.

Cakes Sola | Nomber of Cakes| Day | Number of ananas Sold
Sanottee |t it W M W Monday | U it W I W
Rea vewer | i I W HEIT Toesaay | Ui
Chocolote | 44 W A Weanesdoy| B
Conot | WHHWWHEE Thursday | b BT
Cakes Sold | Nomber of Cakes Doy | Number of ananas Soid
sanotee | 000000 ondoy | ©OOOO0L
7ea vener| OO0 Toesday [ OO
Chocolaie | OOOOOOT Weinesaos| OO
Carol | 0000000 Thusdoy | OOOS
g Key: O- 2 cakes pre Key: O -2 bananas 20

sa. Filip is drawing a pictogram where
one picture = 5 children.

Filip knows more children have blonde hair
than ginger, but fewer children have
blonde hair than black.

sb. Neetu is drawing a pictogram where
one picture = 5 children.

Neetu knows more children have brown eyes
than grey, but fewer children have

green eyes fhan blue,

Wi Colowr Nomber of Ghidren Ere Colow Nomber of Cidren
v | 0OOO wown

sionde we | @OO@

o | 000000 Green

Ginger ey | OOOO0O®

Complete the pictogram shoy

g one of

Complefe the pictogram showing one of

e the possibilities. N the possibilities.
sa. Sue draws a pictogram fo show Ks2's | b. Jay draws a pictogram to show Ks2's
favourite author. Each child vofed once. | favourite dessert. Each child voted once.
Number of Chidren o ren
Aoror | e o chiden Desert | i 10 chipen
vl | @O © Yoot | @ @
waiiams QO 000 000 mit | QOO@®
rowins | ©© © © @ eecren] @ @ @
Morpwao| @ Costord | @

A quarter of the number of children
that voted Dahl, voted Morpurgo.
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Holl e number o chidren tha |
eied , vtes ot

4

<y 13 she comsct? Explain your answr.

7 s he conect? Explin your answer.
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7a. True or false? The pictogram below
shows the results of the tally chart. Explain
your answer.

7b. True o false? The pictogram below
shows the results of the tally chart. Explain
your answer.

Vegetable [Nomber o Vegetabies ot Colow_[Numberof s o Fam 500
Cabbage [ 1 te | LI B LI
Soccol | MIHT Grey [HIH
Onions | W EHH seige [HH
Conols | WM Sown |
Vegetabie [Nomber o Vegetabies soid Colowr | Numberof s of P Sod
Cabbaoe | 0@ whie [ OO000000
0000l | QOO e _[0O00
onons | 000000 beige
Cono | 0000000T Sown

A Kev: O - 5 vegetables o Y

8a. Evie is drawing a pictogram where.

daffodils, but fewer children like dai
than roses.

8b. Jakub is drawing  pictogram where
one picture = 10 children.
Jakub knows fewer children like figers than

lions, but more children like elephants than
lions.

s Nomber of Chidren = Nomber of Cidren
o |© q ephant

wneer | QOO0 ion

battodt oo |@
Doty wore |Q

Complete the pictogram showing one of
# the possibilities.

Complete the pictogram showing one of
# the possibilities.

7. Mary draws a pictogram fo show Ks2's

9b. Chen draws a pictogram o show Ks2's

favourite type of PE. Each child voted once. | favourite pet. Each child voted once.
Number of Chidren Number of Children
[ 1 picture = 3 chidren tel 1 picture = 3 chidren
Dance x 0000000
Gym o 0000000
Games 00
amietics| @ @ @ @ 000

Athird of the number of children
that voted gym, voted games.
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/13 she comsct? Explain your answr.

Ly s he conect? Expiin your answer.





